
Errata

1. P.543, line 9: x should be z.

2. P.545, last equation: σ
s
2 should be σs.

3. P.546, line 3: t = [min[s1, s2]/2], the integral part is missing.

4. P.546, last equation should read

µs1,...,sn = (s1 − 1)σ11µs1−2,...,sn +
n∑

i=2

siσ1iµs1−1,s2,...,si−1,...,sn .

The left hand side of the equality is missing.

5. P.548, footnote 5: κ(r) should be

κ(r) =

(
k

2
− 1

)r /[(
k

2
− 1

)
· · ·

(
k

2
− r

)]
− 1.

There is a missing −1 in the original equation.

6. P.548, Proposition 3: κ(0) should be defined as 0 instead of 1.

7. P.550, 14th line from bottom: s1 = s2 = · · · = sp should s1 = s2 = · · · = sp = 1.
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